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No. SF sif hE B o
AGIL—T|BIZIL—T|CTIL—"T
1 [40/ZEBHBBEA (6500ImLLE) #ik - #E% = 2075 2110 2121
2 |40TZEHBBER (3700Imid L) #iE - #% = 1037 1055 1060
3 |40/ZEABBRA (6500ImLLE) #ik - ¥k = 2075 2110 2121
4 |40F4BABBRR (3700ImLL L) #i% - $73% = 1037 1055 1060
5 (207282 B8R (3000Imid k) #i% - #:k = 103 105 106
6 [20/ZE2 B8R (1500ImBl k) #i%E - #R = 103 105 106
7 |20/24A 8888 (3000ImId b) #ik - ¥k = 103 105 106
8 |20/8AB8E8 (1500lmLl b)) #E - #rek = 103 105 106
9 |RUTTEIR—=XZ4 b (8000imLlE) ik - #:% B 103 105 106
10 [ROTTHEIR=ZZ A4+ (4100lmIA L) #BE - #i% =) 103 105 106
11 |40 EBHBEAR 7 —)La v 75— b (5600imilt) #iE - #15% B 2490 2532 2545
12 |A0FFEHBBAR 7 —)La > 74— b (3800ImLA k) #ik - #rak B 207 211 212
13 |[40FBARBBER 7 —)La v 7+ — b (6600imil L) #iE - #15% B 4919 4985 5009
14 [40TABABBBAX 7 —)La v 7+ — b (4700lmBl k) #iE - #R B 311 316 318
15 |TEHEMRLT (4500lmBl L) #E - #Ex = 415 422 424
16 |#AEMRAT (4300ImBl L) #E - #Ex = 207 211 212
17 |40 BB R 7> L XBHE - BIRE (6400imA ) & - #ak =l 207 211 212
18 |40 BBHREBR 7> L XBHE - A (4600ImA ) & - #ak =l 207 211 212
19 |A0IRABREBR 7> L XBAE - BAREY (5800ImA ) & - #ak =l 207 211 212
20 [A0FABARRBAX 7 L XBHIE - BAREL (2700ImA E) & - #ak =l 207 211 212
21 |20fZEBHEBBAR T~ L ABHE - BiRA (1400imil b)) #E - #7% =l 103 105 106
22 |AOFCR T L AR - BhREL 7 + — L Z A4 b (2000lmid k) #i%E - 37 a 207 211 212
23 |20/EX 7> L ABSE - BFREL Y + —L5 A b (600ImLA L) #iF - #ek =l 207 211 212
24 |FEAT (FE. Cik. BBABE) BE - % = 415 422 424
25 |FEAT (ME. Cik. BBAEE) BE - % = 415 422 424
26 |FHELT (K. BLik. EibANER) #E - #ik = 207 211 212
27 | (M. BLik. BibANER) #E - #ik = 207 211 212
28 |FHELT (K. BHik, EBHANER) Bk - #& = 415 422 424
29 |FET (M. BHIR, BHANER) Bk - & = 415 422 424
30 |FEAT (FmE. Ak, BBABR) Bk - # a 4 4 4
31 (FEAT (FE. Cik. BHBAIER) BE - % = 20 21 21
32 |FEAT (Mm. Cik. BtalER) Bk - # a 20 21 21
33 |FET (K. BLik. BibBIER) #E - #:k = 10 10 10
34 |FET (M. BLik. SibRIEBER) #E - #ik = 10 10 10
35 |FEAT (K. BHiR, EBHAIBER) #k - #k =l 20 21 21
36 |FHET (M. BHiR. EBHAIBER) #xk - #k =l 20 21 21
37 [FEEAREBERE (BihANER) A0EHER (6500mE) B - #k =l 207 211 212
38 [FEEAEHERE (BibANER) A0EHER (3000m L) #ZE - #k =l 207 211 212
39 [FEEAEBERE (BibWNER) 20 ZEHEAE (1500imLl L) Bk - #:k = 103 105 106
40 [FEEAEAERE (BibANER) 40FEAEAE (5800iml L) #iZ - #:k =l 207 211 212
41 |EEAEEERE (BibAER) A0FEAEAE (2700mM L) #ZE - % =l 207 211 212
42 |FEEAEAEE (BibAER) 20 AR (1400im E) B - #ik B 103 105 106
43 |EEAEHRE (BihRIER) 40EHER (6500m L) #ZE - % B 20 21 21
44 |EEAEARE (BihRIER) 40EHIER (3000m E) #ZE - ik B 20 21 21
45 |FEEAEAERE (BibaIBER) 40 AR (5800Im k) #iFE - #iik =l 20 21 21
46 |EEAEAZRE (BihRIER) 40FERAEAE (2700mM E) #ZE - % =l 20 21 21
47 (BEEXRERFEAT AR AR v Y — 40 FEH B (5800imA E) BE - #3% =l 207 211 212
48 (PEEXBERFELIHARARL v Y — 20 FEHIEA (2700imA E) BE - #3% =l 103 105 106
49 |[Z 54+ (1400lmIL L) #i%E - 7% = AER & 4 7 (EE0) 333Kt 207 211 212
50 |7 >S54k (800ImLlt) #iE - #7K =l AER & 4 7 (EE0) 333Kt 103 105 106
51 |BAIBKTFHP328U48Y (1000ImLL k) i - #r:% = 103 105 106
52 |REYRZEE - BiRE (HAXE) & |(BHEHFEIEH:Y) 20751 21101 21210
53 |REEYEWNR - REE B |(BHEHFELIEYHY) 20751 21101 21210
b4 |7 RARZ MAEE ZEY BB, REEAREET 56 51 61
55 |KIEERE EEY) 56 51 61
56 |z DfthEREEE (1H) (] 280 255 305
57 |z DEREEE (¥ H) ] 280 255 305
58 |z DfthBR1EEE (2KFfH) (] 280 255 305
59 |z b BR1EEE (1K) (] 280 255 305




